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Topic:- GENERAL HINDI

1) <3 ST A T oG B -
1. 3T

2, 3

3. 3P

4. 3%

Correct Answer ;-
o YD

2) <Fp BT 9 | q BIT T1 9el fodg I 82
1. 541
2. W8]
3. BT

4. 4

Correct Answer :-

1. UHdld
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Correct Answer :-

4) SN HFFHAF FFIARTS F R o I g d A HIR?
1. iy

2. 319y

3. BT

4. 3qdMDH

Correct Answer :-

5) ‘TAR B YR TR IaT YTaw T 31 8-
1, 207d Bl ST

2, RIfRTGT AT R &A1

3. SIRGH HRT BTH HAT

Correct Answer :-

. SNRIH HRT BT HIAT

6) gTY & T TG TaTgar ara Mg o1 Ul &1 g |
1, SR TIOT R

2. B WBIUL &Y

3. G, UII0L, R

4. 1,101,

Correct Answer :-

7) g9 974 I(d TH d19 ' Uk | (AP ga13C -
1. AFAIBROT

2. Sifqeafaa
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3. JqHdh
4. S&T

Correct Answer :-

8) «ufuTH> g BT WLt R AT 2
1. gR + UMH

2. R + 919

3. TR +dF

4. U +HT

e
. OR -+
9) ‘GG W Had 6 BT G JY AFT ST 31’ 37 9199 B W Igaa- & Ig+ aTd) eg B J1d D |
1. GRIGRT
2.8
3. &%
4, ADS

Correct Answer :-

10) “HIRT BT ST wemnnssunes o1 Yo T & gfd & fe TTiRa’ 2sg ST 91 =4 BI a1 ghmi
1. TTRaquf

2, TIRHETYOf
3. TTRATA

4, TRATad

Correct Answer :-

Topic:- GENERAL ENGLISH
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1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
How can you be as fresh as a daisy so early in the morning?

1. energetic

2. innocent

3. flushed

4. delicate

Correct Answer :-

« energetic

2) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

My family many individualists.

1. taken

Correct Answer :-
» has
3) Out of the following four options, choose the incorrect sentence:

1. She walked beside him, her hand in his, gazing at the full moon while the soothing breeze murmured through
her hair.

2. The bride was dressed on an ivory gown that was studded with crystals and embellished with lace.
3. Instead of arguing with Rob about the error in the accounts, Uday was prepared to work with him to tally them.

4, Last year, the company had not budgeted for this extra expenditure that we incurred during the current financial
year.

Correct Answer -

» The bride was dressed on an ivory gown that was studded with crystals and embellished with lace.

4) Out of the following options, choose the correct form of adverb for the given sentence:

Dev walks his dog. Instead, his father takes it for a walk every morning.
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1. always
2. often

3. rarely

Correct Answer :~

« rarely

5) Out of the following options, choose the most appropriate usage to fill in the blank:

The cargo __ four tones of biofuel.
1. comprises off

2. filled with

3. consisted with

4. consists of

6) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

Jane__ just a few minutes ago.
1. has been left

2. had leave

3. leaves

4, left

Correct Answer -

o left

7) Choose the option that correctly sequences the following sentences.
1. Companies big and small have had to reinvent themselves.

2. Remarkably, more than one Indian corporation has managed this painful transition successfully.
3. Not just in terms of how they do business, but what business they do.
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4. For corporate India, there has been no decade like the 90s.
5. The brave sailors of corporate India had to set sail in the treacherous waters of the 21st century.

1. 31452
2.45132
3.25431

4, 13542

Correct Answer :-

« 45132

8) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

The climate in the tropics can often be enervating.
1. debilitating

2. invigorating

3. variable

4, humid

Correct Answer :-
« debilitating

Topic:- GENERAL KNOWLEDGE

1) Name the British Prime Minster who granted India’s Independence in 1947? /

39 fafesr gamsEt &1 78 Fam, 61 1947 § yRa o Wdaar § 42
1. Neville Chamberlain / Afad AreRa

2. Winston Churchill / fdeT afda

3. Louis Mountbatten / gﬁvrrméﬂ

4, Clement Richard Attlee / FoHe RS Tedr

Correct Answer :~-

¢ Clement Richard Attlee / FoHe R=s Tedr

2) ‘The test of my Life’ is an autobiography co-authored by which Indian cricketer? /
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‘g X TP TS AW’ o URH fohdhrex gRT Tg-aa & TR} ST T §2
1. Sachin Tendulkar / GRIF dga@R

2. Kapil Dev / $iUd ¢d

3. Sunil Gavaskar / gFitd A

4. Yuvraj Singh / gaRIS Rig

Correct Answer :-

+ Yuvraj Singh / ORI Rig

3) The Ken river passes through which of the following Tiger Reserves in Madhya Pradesh? /
P 741, Ao e H Frafafaa § T f59 919 srvarRvg ¥ 1o TeRdal 82

1. Kanha Tiger Reserve /WZ’I%TRW

2. Panna Tiger Reserve /tlleETsZTRﬁTrf'qc

3. Satpura Tiger Reserve / HdYSI CIgTR frord
4. Pench Tiger Reserve / U9 Tl8TR Rord

Correct Answer :-

» Panna Tiger Reserve / T CISIR STd

4) Where in Madhya Pradesh is Northern Coalfields Ltd., a Govt. of India undertaking, is located? /
L TSR § YR WRPR BT ST ST praanar ffes, Fel (R g2

1. Sohagpur/ @B’PTER

2. Mandla / H&dl

3. Junnardeo / JARGA
4. Singrauli / ¥ Rl

Correct Answer :-

« Singrauli / Rich

5) Where is the Central Bureau of Narcotics located in Madhya Pradesh? /
T TSR 7 Heiid ARSI IR Fel (R 82
1. Indore / s‘élz

2. Jabalpur / STdTYR
3. Bhopal / HIUTal

4, Gwalior / TRk
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Correct Answer :-

« Gwalior / TIfeIR

6) The Swachh Bharat Summer Internship (SBSI) 2018 was the initiative of The Ministry of Drinking Water and
Sanitation in association with the ./

I YR TSHSTEN STHIRIT (THSITISMS) 2018 P T T 9USTd 3R T34 AT B ugd A

1. Ministry of Rural Development / JTHI0T fdeh T HaATerd

2. Ministry of Human Resource Development / HIFd ST {den Ty Haterd
3. Ministry of Health and Family Welfare / ¥aT®% 3R URAR HeaTr HTe

4. Ministry of Social Justice and Empowerment / STHINT® <RI 3R SHfYpTIRaT HATC

Correct Answer :-
+ Ministry of Human Resource Development / ATd S¥1eH f[dey #A1ed

7) Which of the following provisions was provided in the Original Constitution of India? /
YRd & o dfae # fFufifaa & S <9 a1 waw uer foar @ ure

1. India as a federation of states /Tlﬁ\’ﬁ & I H ¥ H YR

2. Integrated and executive-dependent judiciary / Qﬂﬂ% 3R HraBRI-FR rmfereT

3. Three-tier system of government / TRBR B ci--Tas g T

4. Three-fold distribution of legislative powers / fqurdt wifdaat &1 ?ﬂ:UJFIT ICGRUYI

Correct Answer :-
+ Three-fold distribution of legislative powers / [aemi Jifaal &7 = A1 faaRor

8) Who among the following was the first person to serve as the Acting Governor of Madhya Pradesh? /
A YR & PRIATe AeAUTd & T H T B dTet Ugal safen fFaferad # d o 32

1. Dr. Bhai Mahavir / SI. ”[Ecﬂ_&'ﬁ'?

2. Justice N.D. Ojha/ GI%HQ:{.@L Ghiﬂ

3. Justice G.P. Singh / SIReq Sit. 41 g

4, Justice P.V. Dixit / SiReea Qi . <iféra

Correct Answer :-

« Justice P.V. Dixit / SIicq Tt 4t <ifara

9) Who founded the Malwa Sultanate, which forms the part of the present day Madhya Pradesh? /
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HIAGT Tea-d D1 ITYAT fFa= S, S S1S1 78T U &7 e 82

1. Hoshang Shah / 8I<RT 218

2. Ghazni Khan / 9ol @
3. Mahmud Khalji / T8Yg f&rasit

4. Dilawar Khan Ghori / f&dTeR @M TRt

Correct Answer :-
« Dilawar Khan Ghori / f@eiieRr @@ Mt
10) CANCELLED

Who is the President of Madhya Pradesh Consumer Disputes Redressal Commission? /

TSR IUHIFaT faare FarRor ST & Sremel i 82
1. Justice Rakesh Saksena / <ITgfci JIHRT TG
2. Justice R.K. Agarwal / ?Ilmi[ﬁ 3R.&. AT

3. Justice Naresh Kumar Gupta / ﬂmﬁﬁ-ﬁ‘ﬂw RIS
4, Justice PK. Jaiswal / =arodfel 4t 3. Sheara

Correct Answer :-

« Justice Rakesh Saksena / =ITfcf BT T

Topic:- GENERAL REASONING

1) Find the average. / 3N SIG) Gl
98, 75, 65, 78, 35 & 45

1. 64

2. 63

3. 66

4. 65

Correct Answer :-

2) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
W & 15 T srert ud WSl ST ATHH TART Rt ¢ | Tad G g |
(i) an75ermu74

(ii) an75ernu74
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(iii) an75ermu74

(iv) an75ermu74

3) Which one of the following four addresses is NOT EXACTLY same as the one given below? /
Frafafea iy v ar udal § 9 R R v va & St qum s At e T 82

Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

(i) Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

(ii) Shop # GF9. Dubai Municipality Al Mananra Centre,
Sheikh Zayed Road,Al Safa 2 — Dubai_ United Arab Emirates
+971 4 346 1616

(iii) Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

(iv) Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

1.

2.ii
3.iv
4. iii

Correct Answer :-

4) Find the missing number: /ﬂ'ﬁmmﬁ
7,22, 37, , 67,82
1.42

2.62
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3.40

4. 52

Correct Answer :-
e 52

5) Archit and Akshat can plough a field in 8 days. Akshat alone can plough the field in 10 days. In how many
days will Archit alone plough the field? /

3 3R 3rerd 8 foAl A U Wd B Wid IPbd &1 & 3P 10 foT A Ta F wiid Ipar g1 oifia srpat fpaq
= & B 3 \id godr 22

1.30 days /30 faa
2.35 days / 35 fad
3. 40 days / 40 g

4. 25 days / 25 T

Correct Answer :-

« 40 days /40 fa1

6) If A = 1 and LATE = 38, what is REBUT? /
Tfg A = 1 3R LATE = 38, &t REBUT FIT &2
1.67

2,65

3.68

4. 66

Correct Answer :-

7) In agroup of 88 people, 26 of them like milk, 76 of them like curd and each person likes at least one of the
two food items. How many people like both milk and curd? /

88 TR & TP TYg H, S7H A 26 GY TG B g, ST A 76 Gal UG Hd ¢ R TS Al gf Wrel Ui o &
U A $U TP T HRal ¢l i fraq @it g 3R 381 a1 Wig #3d 7?2

1. 14
2.16
3. 18

4. 12
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Correct Answer :-

. 14

Topic:- PEDAGOGY

1) Dyslexia is associated mainly with difficulties in which of the following? /
e, FraffEa ¥ @ fFad g1 U 9 811 arclt sfergal ¥ et 82
1. Speaking / Y@

2. Reading / Ug-T

3. Hearing / g1

4, Memory / F{f?f

Correct Answer :-

» Reading /Ye-l

2) Which stage is not a part of Kohlberg's theory of Moral Development? /
fReforfera ® #i |7 Figeant & ffaw e & gt o Gear 78 82

1. Interpersonal Relationships / ITXET e Tvawe

2. Individualism and Exchange / ZImTaar s A= aT

3. Social Contract and Social Rights / STHTISM STeer 3T ATATSE SATerHhTT

4. Universal Principles / arasiiaes g

Correct Answer :-

« Social Contract and Social Rights / STHTST STeer ST HTHTSE ATSHT

3) Deductive reasoning involves: /

TS 9% § e i siar &:

1. reasoning from general to particular / JTHI-I Y fafere &t ek d%

2. reasoning from particular to general / faferee ¥ 9w &t 3R d&

3. perceptual thinking / SHd YRUTHD i

4. active construction and reconstruction of knowledge / ST &1 Hichd frmtor qar Q’Iﬁiﬂm

Correct Answer :-

« reasoning from general to particular / YTH] Y fafdre ot 3k a%



4) According to Jean Piaget, children at preoperational stage are: /

St firaTt 3 SR, gefaed ==or (ot SifoRera W) T 9= g1 &
1. Social / AT (HI=TeT)
2. Complex/\_ﬂﬁﬁ

3. Egocentric / 3TA®BIGd (STNT<®)

4. Adaptable / 3BT
Correct Answer :-

« Egocentric / BTG @ﬂﬁ%

5) One of these is an instructional material for a teacher: /
0 A B A1 T e & forg v frdere wrh 3

1. Supplementary reading material / 3{URe U Jrt
2. Curriculum guides /U'[b‘il?meﬂsg

3. Notebooks / g
4. Blackboard / IHaIS

Correct Answer :-
« Supplementary reading material / 3{JUR& U Ut

6) The quality of a good science text book is: /

TS 33t fagT= UTed Yea® &1 [uraw e gl &:

1. Inexpensive / AT BT

2. Diagrams / 3R

3. Latest information included / TdHqH STHGR] [MTAS IHT
4. Content unorganized / 3rgTfdd mm

Correct Answer :-

« Latest information included / TadH STHBRI MU ST

7) In Gagne's hierarchy of learning, the sixth level is: /

TH & SIfeRTH UeTIwH H, ToT WR FE glar &:
1. stimulus-response learning /G@W-BHWS{@TITI
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2. Concept learning / 3IdYURUM 3T
3. Discrimination learning / WGHTd 31feRTH
4. Rule learning / 7w Sifermg

Correct Answer :-
* Concept learning / 3{d&IRUIT 3Ty

8) Guilford’s model of intellect has which of the following determinants? /
frawid & gfe alsa A e A s o fFuRe 82

1. Process, operation and product / cr%m, T 3R IS

2. Content, process and product / T, Tfehar 3R IS

3. Content, operation and product / TR, TaTe 3R IdTG

4. Operation, process and systems / =ITe, HlohdT 3R vroett

Correct Answer :-

« Content, operation and product / GIHYY, TTeH 3R TG

9) In classical conditioning, if the unconditioned stimulus is presented every 15 minutes, this form of conditioning is
called ./

Frufafa wgeea @SivHa H =) §, afe Tyias SEIus (SFHS RS W) Td 15 e W SufRea
BT A U (PSINM STET__ PHearrel

1. Forward conditioning / 371 W& (PRAS BHeIRA-T)
2. Backward conditioning / U8 UG (SHdS Ha =)

3. Simultaneous conditioning / NECAINECY PIGCINE] (HI'&H#EHQ‘IH IR
4, Temporal conditioning / 3L PIRCNE] ('?.'TEﬁW HeIRIT)

Correct Answer :-

« Temporal conditioning / SRR UHHT (SRS BoIRI1T)

10) Practice is made in ./
gt Afdmemar?i

1. Lecture method / SIReAH fafd

2. Deductive method / fATH-TE® fafer

3. Game-based method / Td-3TeTRd fafdy
4, Drill method / fg fafey
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Correct Answer :-

+ Drill method / f$a fafer

11) The main aim of National Council for Teacher Education is: /

T R e ulug T HEI ST

1. To open colleges of education / e Hsﬁaamqi CaRCINEL

2. To promote research in education / fRrar &@mrmaframém

3. To maintain quality standards in colleges of education / TRI&T & TRTARICHA! & UG A I I-1T @

4. To provide grant to colleges of education / fR1&m & TeTideeal o Al Uald HH]

Correct Answer :-

» To maintain quality standards in colleges of education / e ® mﬁw HM®] I §TE IS

12) Maturation is a process where there is_ i

uRuEaT T Ufsea & Sret g g|

1. an increase in social responses / BIEISERRIERIE] ﬁq@

2. a natural biological development / U Il EICCACEaR

3. a change due to cultural influences / GRGTI®H YHG & HRUI TP daad

4. a change due to environmental pressures / TfaRUT Ta1d & HRUT TS JGard

Correct Answer :-

« anatural biological development / T WIdhld® Sifde faem

13) An assessment that is conducted prior to the start of teaching or instruction is known as: /
g geaic ol fRI&0T a7 33T I Yd foran e &, =1 wearan 8

1. Formative assessment /WWWW

2. Cumulative assessment / ol Hedich=1

3. Initial assessment / WWW

4, Alternative assessment / Job et Jedidh+

Correct Answer :-

+ Initial assessment / 3{RfY% Gedidh

14) Which one of the following represents the domain ‘evaluation’ in the Bloom’s revised taxonomy? /
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= P TR Feffevor & a8 @ o9 91 geaieT S &) uelikia svare?

1. Demonstrating the general principles / ITHT Rygial &1 yez=

2. Formulating a new way for categorizing objects / aﬁsﬁ Cal aTﬂ% B & T T Fa1 b qOR AT
3. Creating a graph or chart using the data / ST BT SUART H AT T A §AAT

4. Explaining the information in detail / [O¥dIR ¥ SIF&HRI FHATT

Correct Answer :-

» Creating a graph or chart using the data / 2T T IYUNT HR U1 T T FMT

15) Which one of the following may be used to develop creativity among the students? /
o gerr (frufrfad) Refa o ¥ o i § iy we &1 Sy fear sirar 82
1. Giving impositions / 3{fRTTUT ST

2. Dictating notes / ¥ feraar

3. Providing solutions / JHIUTT U Al

4. Providing assignments / Wﬁé‘i’ﬂﬁ

Correct Answer :-

« Providing assignments / FHIG G

Topic:- CHEMISTRY

1) The decomposition of NH3(g) on a hot Pt surface follows zero order Kinetics at high pressure.

What would be the rate constant for this reaction? /

NHy) T 3(UUET U TTH Pt g TR S &1 IR Y DI et 1 urer Pl ¢ | 59 Sffhar &
ferg fafRree gz war giie

1,57

2. mol Ls™!
3. molL ™!
4. molL~ls™!

Correct Answer :-
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What is the Equivalent weight of the oxidising agent K,Cr,05 in acidic medium?(Molar mass of K,Cr,04
is 294 amu). /

3 ATeay | STRIBIV FRP K,Cr,0, BT JHGE UR FT 8?2 (K,Cr,0- BT HITR SHHH 294 amu

5]

1. 49
2,42
3.21
4.98

Correct Answer :-

. 49

3) Which one of the following polymers comes under the class of Ployesters? /
fafifeT sgae! & 9 S uifegeex aif & S 32

1. Dacron / S

2. Novolac / dlcid

3. Melamine / HETHTZA

4. Nylon 6,6 / QA 6,6

Correct Answer :-

« Dacron/ éﬁ-l'—'l

4) Why is it that when Iodine can readily form I3~ Fluorine cannot form F3 ™~ at all? /
1 i R 6 IS S | I3~ &1 Hebdl §, STaid GiRIT F3~ 78 &1 Gl 22
1. It is because fluorine has no vacant d orbitals available in its valence shell. /
U1 3fTE & i Tl % sl et A 1S Rt d pean T R
2. It is because of its high oxidizing power. / T 3P I STRAHRUT Al b HRUT %I
3. It is because of low F—F bond enthalpy. / dg 99 F-F 9o i 91iar o SRl %l
4, It is because of the high electronegativity of Fluorine. / Ug TR ®1 3 ﬁ?ﬂ?‘[—m PIaog I % I

Correct Answer :-

« It is because fluorine has no vacant d orbitals available in its valence shell. /

U1 SHFT B i TR & Taiol Hef § B1g Red d Hal -Tel g

Page- 17



5) pH value of N/10 NaOH is /
N/10 NaOH &TpH A &

1.11
2.1
3.13

4.10

Correct Answer :-

6) An organic compound A ( C3HgO ) reacts with Cu metal at 573K to form B ( C3HgO ). When B is
heated with Na;CO3(aq) and I, it gives a yellow solid C. When A is heated with Conc. H>S04 at 443K, a
hydrocarbon D (C3Hg) is formed.

Identify Compounds A, B, C and D. /

TS HTH~® TIE A (C3HgO), B ( C3HgO ) 91 & fiIT 573K TR Cu UTg & T1Y SfUfhan war g1 519 B &1
NaCO3(aq) 3R I, & 1Y T fobar Sira € ot ae el 19 € &aT 81 519 A Y 675 S0, P 443K TR 19 fabar
ST &, 9 TP gIggId1a D (CzHg) FRa giar 81

YIFTBT A, B, C 3R D &I UgAIAT|

1, A=CH:—CH>—OCH: B=CH:—CO—CHi C=CHI:. D=CH:=CH:

2. A=CH:—CHOH—CHi. B=CH:—CO—-CH:; C=CHI:;. D=CH:CH=CH:
A =CH;—CH:—CH:0H. B=CH3—CH:>—CHO. C=CHI;. D=CH3iCH=CH2

4, A=CH3;—CH>—CH:0H. B=CH3—CH:—CHO. C=Cu:0. D= CH3:CH:2CH3

Correct Answer :-

. A=CH:—CHOH—CHi. B=CH:—CO—CH: C=CHI;. D=CHiCH=CH:

7) Hybrid state of Cl in ClO3" is: /
ClO3~ # Cl &t HHid a7 gt :
1. Sp3

2. szd

3. sz

4, Spd
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Correct Answer :-

. Sp3

8) The amphoteric oxide among the following is: / fFrafifaa & vrpl e sifwgs §:
1. Gay0O3

2. CaO

3. 8i0,

4. CO,

Correct Answer :-

U Ga203

9) If the magnetic moment of [ Fe ( F )g]3~ is 5.9 B.M, the complex is: /
TfE [ Fe (F )g]®" &1 9a&19 3mguf 5.9 B.M g, &Y 9fRry &

1. Outer orbital complex : low spin / dIgl Feftg ity : 99 T

2. Outer orbital complex : high spin / STl H&id FRIY : 3= THT

3. Inner orbital complex : low spin / SR weflg withy : 9 T

4. Inner orbital complex : high spin / 3R et Ty : I TH0T

Correct Answer :-

« Quter orbital complex : high spin / dIgl Feg ARty : S THur

10) Hydrogen electrode is prepared by dipping the electrode in a solution of Py = 3 at 25 degree
centigrade. The potential of the electrode at this Py is /

BI3SIo gadels 25 3 A&s W Py = 3 & fawa+ # saacis &) gatex auR faar oar 81 39 Py W Sadcls
AR A

1. +0.177V
2.—-0.177V
3.-1.77V
4. +1.77V

Correct Answer :-

- =0.177V
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11) Which of the following reaction supports open chain structure for glucose: /
fFrafafaa & & #19 d@ sififrar wqeis 3t et g Jva=T &1 JudT Hdl 3:

1, Reduction in presence of HI / HI P Suffa & =g

2. Molich’s test / Aiferes ufveon

3. Reaction with HCN / HCN & 1Y 3ffHfdhan

4. Hemi acetal formation / %'lﬂ Qﬁl?(’f 1 fafor

Correct Answer :-

« Reduction in presence of HI / HI &1 Iufufd # Sra=aa

12) stable intermediate formed when nitriles are acid hydrolysed is: /

fRR wuadi ARfa e § oa o sa-srvafed 81 o Aefea g &
1. Acids / 3{&T

2. Amines /'QTITST:T

3. Ammonia / SEIAT

4, Acid amides / &I THITS

Correct Answer :-

» Acid amides / &I UHIg S

13) Which statement is true about anomers of monosaccaharides ? /
HTAPRIES & THIHR & [y § B9 91 YT T4 872
1. Anomers do not show mutarotation /@ﬂ?qhaﬁfgamﬂgﬁﬁﬁmﬁ%
Y q X0 C o Q
2. Anomers have carbonyl carbon forming acetal / T[HX 'Ef Pld[A] pld Udlcc] aﬁ%

3. Anomers are also diastereomers /W@'&E@W ﬂ-ﬁ@?f %

4. C4 of fructose show anomeric form / Tha ol bl Cll\"'i\IHIhQOb w0 g g

Correct Answer :-

« Anomers are also diastereomers /Q:hTN @%ﬁ'ﬁhﬂ? aft @a %

14) which is non polar but contains polar bonds? /

DI YA B, AfhT 3ad Yt se= FgATRd ST 82

1. H,0
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2. HCI

3.CO,
4,505

Correct Answer :-

. CO,

15) The condition for free expansion of an ideal gas under adiabatic condition is : /

FRRTS aRIT & Siavid T 3Mexi T & Jad fawar ot fRufa &:

1 q=0 , w=0 ,AT=0
2. q#0 , w=0 ,AT=0
3, q=0 , w=0 ,AT=0
4, 950 , w>0 ,AT=0
Correct Answer :-

q=0 , w=0 ,AT=0

16) Density of a metallic object is 5.6 gm/cm3. Express it in Kg/m3 2/

T gTfeaeh &g T Ted 5.6 TT/AHTS &1 =2 fhwmy/iS & =rp S |

1. 56

2. 0.056
3. 560

4. 5600

Correct Answer :-

» 5600

17) Hydration energy of Ca %* is greater than: /
Ca?* B eI Solt 399 3P gl &:

1. AR

2. Be2t
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3.Na*

4, |\/|g2+

Correct Answer :-
« Na*

18) A gasin a vessel is heated in such a way that its pressure and volume both becomes two times. The
temperature of the gas expressed in kelvin scale becomes the initial temperature. /

T TS § 9 T S TR F T THRAT AT 76 ST I ST A <A1 &I AT 3T U Hfeds THT § 4 HT
ATIHTT TTLH TTTHTT HT gl ST 8l

1. four times / AT AT

2. double / TRAT
3.2/3"/ T-fagrg

4. half / srem

Correct Answer :-
« four times / AT AT

19) Energies of orbitals of H-like species depends only on where as the energies of orbitals of a multi
electron system depends on and v

H-UPR & YSITadl B H&B] Bl SHelld dad R R ®eedl €, siafe 9g saae= aF & werw!
Pl ST 3R R 4R Heel &

i.n,m,|

2.n,l,s
3.n,n,l
4.1,n, m

Correct Answer :-

20) Oxides of Nitrogen shows variable oxidation state ranging from: /

ATZEIST o ATFATSE AR ATF LI TTEAT GERECISEE!

1.-1to+2/-19+2

2.-2to+4 /-2 T +4
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3. +1t0+5/+1 T +5
4, —3to+3/—3@f+3

Correct Answer :-

. +1to+5/+1@+5

21) Methyl vinyl ether reacts with HBr at room temperature in the absence of moisture forms: /

frurse forga SUR P & aaw WR TH Bt srqufRufa & ver & 1Y ifUTHaT H3 94161 3:

H,C
1 e

CO ——CHy amd HoC—Br

HoC—CHO and H,C—CH,—Br

2.
3. Br—CH;——CHz—OCH:
H
HSC—(L,—OCH3
W

Correct Answer :-

H

I
H,C—C—OCH,
I
. Br

22) Choose the INCORRECT statement from the following. /

Fafafea ¥ 9 Taa sy B |

1. In sucrose, the two monosaccharides are held together by peptide bond./
geoiol H, 3l AFRIDRISS &I UPIES de gRT U 1Y §ie &R 33T Sl | |

2. Carbohydrates are optically active. / m@? =OTd U W by %I

3. Lactose has glycosidic linkage between C4 of glucose and C; of galactose. /
JAdeIol § IS & €4 3R A & €, P I TR HIRISH Teaud g
4, Maltose is a reducing sugar. / TR YT U B |

Correct Answer :-

« In sucrose, the two monosaccharides are held together by peptide bond./

gohioT B, S MFNGRISS oI UPTSS S4 gRT U W1y 1Y $HR 37T ST & |
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23) Choose the INCORRECT statement from the following. /
Frafafed 4 Taq sy g4I
1. Streptomycin is used for the treatment of tuberculosis. /

KUCHERA BT SUTNT qufad & IaTel o ol fhar ST 8|

2. Mifepristone is a synthetic steroid used as “morning after pill” ./

W IREH U HH AT Sed § foresT SudNT » el & a1e gag" & U § fhar Srarg|
3. Ibuprofen is an example for narcotic analgesic. /Wﬁv—"f G GGTRID qdl [ Uh 3algrUl %I

4, Equanil is a tranquillizer used for relieving depression and hypertension./

SHAT U URITae 5, ForIeT IUAIT SHadTg SR I IacaTd I Jgd UM & fofu foha ST g1

Correct Answer :-

« |buprofen is an example for narcotic analgesic. /&lﬁq\u\ll\hﬂ Hiqd c'(é'-il-‘ald’) cdl hIUDH SaleUl %I

24) Which of the following is a non-biodegradable detergent?/ fgdAa I R-SigfqueHiy feesic %?
1. Sodium-4-(1-dodecyl)benzenesulphonate / TSTH-4-(1-STSHIIT) SSIHAHIC
2. Sodium-4-(1,3,5,7-tetramethyloctyl)benzenesulphonate / ?ﬁ%’qﬁ-4-(1,3,5,7- é@’lﬁfmﬂ?ﬁm

RGN LIS

AN

3. Sodium-4-(2-dodecyl)benzenesulphonate / @ﬁmﬁ-4-(2-@@m W
4, Sodium lauryl sulphate / QST TR Tethe

Correct Answer :-

» Sodium-4-(1,3,5,7-tetramethyloctyl)benzenesulphonate / m-4-(1,3,5,7- é@ﬁqﬁ?ﬁm
ERISSGEIET

25) Which of the following drug is not an analgesic? / B INIEEE] ﬁﬁaﬁqquﬁ%’
1. Butazolidine / W@Eﬂ

2. Naproxen / AUTRA

3. Dichlofenac sodium /@ﬂmﬁ@ ofgaw

4, Ofloxacin / W

Correct Answer :-

« Ofloxacin / W@T‘T

26) Which of the following is NOT a condensation polymer? /
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Frafefad § #19 Y99 95 81 82
1. Melamine /ﬁ?ﬂﬂ'ﬁ?‘f
2. Buna-S/ d-1-S

3. Nylon 6,10 / TT@I6,10

4, Dacron / Slﬁll:l

Correct Answer :-

+ Buna-S/g-I-S

27) Acetone and acetophenone can be distinguished by: /

e SR THieIbH & 9% gRT faufed fosar s woar &:
1. Tollen’s test / CIeT URI&TUT

2. Saturated solution of NaHSO3 / NaHSO3 WW@W

3. Schiff’s reagent | R &1 i e

4. DNP test / DNP TRI&fUT

Correct Answer :-

« Saturated solution of NaHSO3 / NaHSO5 T Hqud fdees

28) Identify the base which is not present in DNA: /
I &R 1 UG H9, STl DNA T HIS[G 81 &:

1. Quinoline /aqﬁ%:{

2. Thymine / YTSHI

3. Adenine /Q@’FTE:T

4. Cytosin /ﬂ'lgaﬁlq

Correct Answer :-

+ Quinoline /a:ﬂ:hﬁ:f

29) Ozone layer depletion in Antarctica region is mainly due to the formation of .

Sferdhfed 8 3iivi< WRd ST g =I U J ¥t & sRUrslaT 81

o

1. Peroxyacetyl nitrate / RIGITTRICTEd AIS¢C

2. Chlorine nitrate / AR :us%;a
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3. Acrolein / Qaéll?*l:l
4. Formaldehyde / BHCSEIES

Correct Answer :-

« Chlorine nitrate / TR Hls?ga

30) An element X forms an oxide of molecular formula X,03. The percentage of the element X in it is 53.
Find the atomic mass of the element. /

TSP ad X, SAMM0IH T X,0, & TH R3S BT FAT0r S 8 1 39 ad X BT Ufa=id 53 81 39 a«
BT URUTY R T |

1. 18
2.27
3.45

4. 36

Correct Answer :-

31) The de-Broglie wavelength of a particle with mass ‘m’ is 36 times its velocity. Identify the correct
relation for its wavelength. /

U ‘m’ AT TH BN T SI-a17e] aiTG e TP 97 BT 36 AT 8 | ISP dIIGH T Tl T
CEEIEL

h
6 —_—

m
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32) The least basic compound in the following is: /

fafafad & & s et 9t 2
o
! 2
1. =
O

N \V/\\CHZ-

. NH

Correct Answer :-

33) The Invert Sugar produced on hydrolysis of Sucrose is laevorotatory in nature and contains a mixture
of Glucose which is dextrorotatory and Fructose which is laevorotatory.

What proportion of Glucose and Fructose are present in Invert Sugar? /

TP Id & BISSITA T H3 W SAled 39d¢ IER UHTd H IrHTad gidl 8 SR W T Iel o7 Ay
BT & SN qIieTTad! gial & 3iR Wae ol & Y arTad giar g |

34¢ IFR T DI 3R aeiSl BT T 3JUTd BidT 82

1. 0.5M Glucose & 0.5M Fructose / 0.5M W & 0.5M ThaclSl

2. 0.2M Glucose & 0.8M Fructose / 0.2M DN & 0.8M Thaelsl

3. 0.25M Glucose & 0.75M Fructose / 0.25M TP & 0.75M T ol
4. 0.4M Glucose & 0.6M Fructose / 0.4M WD & 0.6M Thaeiol

Correct Answer :-

« 0.5M Glucose & 0.5M Fructose / 0.5M TSI & 0.5M Thacrol

34) The van der Waals constants of a gas are a=(0.751 L2 a£m mol2 and b=0.0226 L mol~1. Calculate the
critical temperature of the gas. /
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U T & 9 S 91 FRRRTP a=0.751 L2 atm mol2 3R b=0.0226 L mol~! &1 7Y BT pifde dTqHqT=
g iera Bifergl

1.120K
2.545K
3.273K

42K

Correct Answer :-

120K

35) The molecular formula of a coordination compound is CrBr;3 . 4H,0.It requires one mole of AgNOj3 to

form pale yellow precipitate of AgBr.What is the structural formula of the compound? /

TS GUGY GRS BT SATUIIS T CrBr; . 4H,0 Bl AgBr F BId Uit T BT 38T 591 & g 39
AgNO; & TP TTHSAY] B TaRIHT gldl ¢ | TS BT WD G FIT 8?2

1. [Cr(H,0)4] Bry

2. [CrBr(H,0)3] Bry. H,0

3. [CrBr3(H,0)5] . H,O

4. [CrBry(H,O)4] Br.

Correct Answer :-

¢ [CrBry(H,0O)4] Br.

36) The hybridisation of the sulphur atom in SF,, SF4 and SF¢ respectively are: /

SF,, SF, 31X SF & Weh URHTY] & JHR0T HH: &

1. sp, sp>, sp°
2. sp3, sp3, sp3d2
3. sp>, sp°d, sp>d?
4. sp,spd?, dsp?

Correct Answer :-

. sp3, sp3d, sp3d2
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37) The aromatic compound among the following is: /

Frafafea # @ Eifta g9ife @

2.
Ho _
ke,
H

Correct Answer :-

38) The rate of a third order reaction is given to be r. If the initial concentration of the reactant is doubled,
what would be the rate of reaction ( r{) under this condition? /

Jr¥ w1 rffear B aR r Y STl 81 Afe SR R® &1 RS IigdT G 81 St 8, 9 359
Rufa & siavla 59 Siffsear Y g3 w1 81t (ry)?

1.r;=8r
2. 1] =64r
3.r1=2r
4.1 =4r

Correct Answer :-

39) The half life period of a first order reaction is 60 minutes. How long it will take for 75% completion ? /

TP UYH HH AfUTHar BT I3y 60 fiHe 81 75% qof 811 # a1 aad ainm?
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1. 60 minutes / 60 fFe
2. 120 minutes / 120 f&Fe
3, 75 minutes / 75 THC

4. 100 minutes / 100 f&9E

Correct Answer :-

« 120 minutes / 120 e

40) The correct order of depression in freezing point of the following compounds is : /
fFafafEa difel & feais § irae sTad va §:

1. CH3COOH > CF3COOH > CCl3COOH

2. CH3COOH > CCI;COOH > CF3COOH

3. CCI3COOH>CF3CO0H > C H3COOH

4, CF3COOH > CCl3COOH > CH3COOH

Correct Answer :-

« CF3COOH > CCI3COOH > CH3COOH

41) Given below are 4 amines P, Q, R and S.
P = Methanamine. Q = Benzenamine. R = N, N- Dimethylaniline S= Ethanamine.

Choose the correct increasing order of their basic nature. /

4THA P, Q, R 3RS 2 fag T 1

P = AITTHIA, Q= SRR = N,N- STERIIEAERR s= 33 g
ITD R P Td & et ggd pH T AT P |

1.P<S<Q<R

2.8S<P<R<Q

3.Q<R<P<S

4, R<Q<S<P

Correct Answer :-

*« Q<R<P<S

Page- 30



2 moles of an ideal gas undergoes isothermal reversible expansion from a volume of 10 dm3 to 100 dm>. AS
involved in this process is: /

TS 3SR 49 F 2 W (ATH-317]) 10 dm T 100 dm3 TF & M- H JHATIT IchHvYg foar |
ToRd 81 39 Wohd § afifa AS®:

1.37.8 Imol'l K-
2.35.8 Jmol'! K
3.22.4 Jmol'! K!
4.38.3 Jmol ! K1

Correct Answer :-
« 38.3 Jmol! K'!

43) During the electrolytic extraction of Aluminium metal from Bauxite by Hall- Heroult process, Bauxite
is mixed with Cryolite.

Given below are 4 statements giving reasons for the addition of Cryolite.

Identify the statement which does not correctly describe the role of Cryolite in the extraction process. /

BTA-gRIce Ulhal gRT SRS & Tegiif=ay u1g & fagyd sraeet fAewyur & R, Siearse &)
wraase & Y fAfda fear smar 21

PHAAISE & IS $T HRUT IdTd §E 4 YT T W B
I8 HYF UgIT o s s ufthar 6 raerse o YfieT o1 Hel 9ui- T8l Sl

1. It increases the electrical conductivity. / g iaqu ATeIHdl I deldl %l

2. It lowers the melting point of Alumina. / dg H(’jj?-l"ll F TP DI HH Bl %I

. in B r c
3. Cryolite acts as a catalyst. / SPTAIAISE IARP & =0 H B Bl g

4. Cryolite acts as a solvent. / BTATATSE U fAaH & U H &1 HAT 5

Correct Answer :-

« Cryolite acts as a catalyst. / HIATASE SARD b FY Ao HRar gl

44) From among the compounds given identify the Allylic halide. (X = Halogen atom). /

fau T Giftrel # 9 varsfore sarss @1 U $91 (X = SEI URHAT) |
1. CgHs—X

2. C¢Hs—CH,X
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3. CH,=CHX
4, CH2=CH—CH2X

Correct Answer :-
« CH,=CH—CH,X

45) What is the Covalence of Nitrogen in Nitrogen dioxide? /
ATEE IS STESHTRITSS | ATSCIo B UgaleIdhdl 3T §2
1.3
2.2
3.4
4.1

Correct Answer :-

. 4

46) What is the product formed when Propanoic acid is heated with HI and red P at 470K? /

DI A1 Icure AR gl @ 59 WIS 3R &1 HI MR ATel P & |1 470K UR TRH o Sirar g2
1. Propane / PIC

2. Propanone / PIECiC]

3. Propanal / PIBEI]

4, Propene / =

Correct Answer :-

» Propane/ IR

47) What is the product obtained on heating tertiary butyl alcohol with 20% H3PO,4 at 360K? /

360K TR 20% H3PO, & HIY TS T3 SATHIEA DI TH B R U STl IUTG T 82
1. But-1-ene / &JC-1-U

2. n- Butane / n-wiq

3. 2- Methylpropane / 2-ﬁW|3?l'Q‘Ta:[

4. 2- Methylpropene / 2-FrEaude
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Correct Answer :-

« 2- Methylpropene / 2-TTUTS U

48) 5.55 g of a mixture of calcium chloride and sodium chloride is treated with Na,COj solution. All the
calcium ions present in the mixture are precipitated as CaCQO3. This CaCO3 on strong heating produce 1.12

g of CaO. Calculate the percentage of sodium chloride in the mixture originally taken? /

SR FARTES SR TSTH FARTES & YT F 5.55 TTH B Na,CO; faaa= & a1y Iu=nfea fowan
wirar 2 1 Fysror & SufRya 9t HREw 2ma caco,; F Fu H 3@afia 31d €1 Jee 91U+ IR I8 CaCo,
1.12 UTH Ca0 I HYal 1 ford TR fAryor & Jifaw aRigs &t aRafa® ufa=raan It #3?

1. 40%
2. 50%
3. 60%

4. 73%

Correct Answer :-

« 60%

49) Calculate the energy of the Ist stationary state (n=1) of Li2*.

The ionisation energy of He™ is 19.6x107'8 J atom™! /

Li2* &1 Ugel fRRIGRT (n=1) H Sl UPHIeId BIou|
He" @1 ST-IHROT Solt 19.6x10718 J atom™! §

1. 4.4x10"17 J atom™!

2.-9.6x10717 J atom’!

3.19.6x107'8 J atom’!

4.4.9x10718 J atom™!

Correct Answer :-

e —4.4x10717 J atom™!

50) Calculate the kinetic energy of 1 g of O, at 47 °C. /

47°C WR 0, & 1 T B! TIfersT Soll 1d He

1 2.24 X 10%]
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5 1.24x 10%]
3 2.24 % 10%]

4 1.24x10%]

Correct Answer :-

1.24 x 10%J

51) One of the following reactions is an example for disproportionation reaction.

Identify the reaction. /

o arfuferamail & @ ver srawTguTaq siftifsrar & e Us Iarerur 2l
39 S ferar &I ygaT=U|

1. 4H3PO3 =2 H3PO4 +PH:s

5 POCI3 +3H20 = HiPO4 +3HCI

3. PCl3+3H20 © HiPOs +3HCI

4. 2Ag+PCls > 2AgCl+ PCls

Correct Answer :-

. 4HiPO: = HiPO4+PH:z

52) Identify the drug which can be effectively used as an Antacid. /

fFrafaRe ¥ 9 99 SiiufY &Y ugaf=e o gUTdl &0 S SRA@-RIS & &9 | SUIRT & of Jadl g
1. Terfenadine / GRB-TSIS

2. Ranitidine / FATC TS

3. Salvarsan / SeaRE

4. Seldane / Geg

Correct Answer :-

« Ranitidine / %ﬁllél%q

53) Identify the compound which does not react with NaOH. /
39 TiE B UgaTIY St NaOH &A1Y AFHTHAT 781 Ha|

1. BeO
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2. Si02
3.B,03
4, CaO

Correct Answer :-

« Cal

54) Identify the isoelectronic and isotopic pair from the following. /
g o 3 Tugaeel iR IuRITfA® gi ugan=e|

1. 40Ca2+ and 40ar / 40Ca2+ 3R 40Ar

2. 39K* and 40K / 39K+ 3R 40K *

3. 56Fe3* and S7Fe2t / S6Fe3* 3R STRe2*

4. 2Na and 24Na* / 23Na 3fIR 24Na*

Correct Answer :-

o 39K* and 40Kt/ 39K+ 3R 40K+

55) Which of the following reactions, H,O, is acting as a reducing agent? /
Frafafea o 9 e sififtrar A, 1,0, TH UTI® FR® & &4 H G H2 6T 87
1, PbS+4H202— PbSO4 +4H20

2. C¢He +H202 — CsHg OH+H20

3, Ag20+H200—=2Ag+ H:0+0:
4, H2S+H20:—2H20+5

Correct AnsWer i- |

Agr0+H:0:—2Ag+H20+02

56) Which of the following set represents the valence electron of rubidium (Z=37)? /

Frafafea 7 9 #1991 Je Thfean (z=37) F Jaisl saae [ o1 ufdaf+ita swarg?

500‘1
1.(11112)
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1

y & L0T)
51,1,4 i

3. ( L R ] 2)

600‘1
4.(.1'!112)

Correct Answer :-
50,0+ L
. ( LB B 2)

57) Which of the following amines cannot be prepared by Gabriel’s phthalimide synthesis? /

Frafafed o 9 1= a1 smrs Ao & BUTTHTS S WA gRT dUR ol [T ST Hevdl 52
1. 2-Phenylethylamine/ Z—W&ﬂﬂ:{

2. Butylamine / @Icrlaj:ﬂg:[

3. N-Methylphenylamine / N-Frgahraas

4. N-Propylamine / N-UugasH=

Correct Answer :-

« N-Methylphenylamine / N-fTScth-Taars{HI—

58) Which of the following element is expected to have the highest third ionisation enthalpy? /

A A9 A 90 I T A iy T (S Ted)) Jat 3raféd 82
1. Magnesium / TEREE
2. Beryllium / affery

3. Aluminium / Q?{&Iﬁﬂq
4. Boron / SR

Correct Answer :-

« Beryllium / SRferaH

59) Which of the following is the most stable conformer of ethane-1,2-diol ? /

frafafaa ® 19 $39-1, 2-STa &1 9aifs R reu® 82
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H CH
1.
CH
H\ H
W $| H
OH
2.
OH
H
H
H H
3.
OH

60) Which one of the following solvents will produce the maximum depression in Freezing point for a
solution having 1 molal concentration of a nonvolatile solute?

K¢ values of the solvents are: Acetic acid:3.9 K kg/mol; Carbon tetrachloride: 31.8 K kg/mol ; Ethanol:
1.99 K kg/mol; Water: 1.86 K kg/mol. /

o & Q 19 91 e faarae v Ta faauq & o e srarwsiie ey &t gigar 1 Wiaa €, R9ie
A AfFdH T U HIM?

faamasl & K, 714 §: TRIfe® 3rat: 3.9 K fhaRnAmsiy; w1e eeraaRiss: 31.8 K fhatmamasi
SAATS: 1.99 K fHaRmATHSIu); Ui 1.86 K faunAmI3I0]

1. Ethanol / 3?)7‘1\/'[?{

2. Carbon tetrachloride / &TeH Egldﬂ\lﬁlis
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3, Water / O
4. Acetic acid / Q|%||E$ ST

Correct Answer :-

« Carbon tetrachloride / PTa Egldﬂ.\lﬁlss

61) Which one of the following isomers of C4Hg¢Br will readily yield 2-Methylpropan-2-ol on hydrolysis by

Sn1 mechanism? /

CH,Br & 8 JaTaTal & A ®I9 °1 T Sy 1 Foranfafil gR1 Sa-sraeed $31 R 2-Afawu-2-sia
ST I ST BRAN?

1. Tertiarybutyl bromide / Jc1d SICISA SHSS

2. Isobutyl bromide / TSl SICTRA SHSS

3. Sec-butyl bromide / f§dII® HCTBd S S
4. n-Butyl bromide / T9-&CIgd CICIES]

Correct Answer :-

. Tertiarybutyl bromide / 1T FICTSd SHATZS

62) Which one of the following reactions does not confirm the presence of aldehydic group in the structure
of glucose? /

gmﬁ‘r@ﬁ\?«lﬁrﬁw‘maﬁﬁﬁﬁ:r DI B AT 6 TS eIiS® UYE P Ui 3t Y 1) Har

1. Reaction with acetic anhydride / TRifesw Qﬂ@l%gl%g & 1y 3ffehar
2. Reaction with hydroxylamine / ?E@H?ﬂ@'ﬂ'l’sﬂ & 1Y AfNfHAT
3. Reaction with phenylhydrazine / ] ENGES] o o T1Y AT

4. Reaction with NaCN/HCI/ NaCN/HCI & 91 3iffesan

Correct Answer :-

« Reaction with acetic anhydride / Qﬁlﬁﬁ QHBIQEIES & g1y AR

63) Which one of the following transition metal complex ions is expected to be coloured? /
forg Tspwur erg fRrgor 3 A | frad @i 81 3t swiie 82
L [Ti( HpO)e]**

2. [Fe(CN)g]*
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3. [Sc(H,0)6)>"
4. [Zn(NHz)4]**

Correct Answer :-
« [Fe(CN)gl*

64) Which one of the following compounds would be obtained as the product by Gabriel’s Phthalimide
synthesis? /

Tifoad & AfeHATSS HRATUT §RT SIE & FU | 9 # | B9 A1 T iR ured gim?
1. RCOOH

2. R3N

3. R—NH,

4, R—=NH—R’

Correct Answer :-

« R—NH,

65) Which one of the following pair of species has the same bond order? /
il o T yonfaal & fora w0 & 901 d89 90 82

1. NO, CO

2. Ny, Oy

3. 07,8,

4 03,NO*

Correct Answer :-

66) Which one of the following acids will give Phenol as the product when its Sodium salt is heated in
presence of Sodalime? /

g ot § A B9 A1 IS F U A BAId T SIg STH oIq01 B AISTATSH Bt SurRATa A 76
T STan 82

1. Malonic acid / ﬁ?ﬂ% T
2. Phthalic acid / BT/ BUTD 30

Page- 39



3. Benzoic acid / aﬁﬁ% 3R
4. Salicylic acid / foIRIfer® 3

Correct Answer :-

. Salicylic acid / fcififeres s

67) Which layer of the atmosphere is affected by the depletion of ozone gas? /
3fiei T P Rfcaeor & argasa &Y oI @ wa yHiad gidt 82

1. Stratosphere / HATY HSd

2. Thermosphere / ATTHSA

3. Mesosphere / HHIHS A

4, Troposphere / gusd

Correct Answer :-

« Stratosphere / THAY HSd

68) 2 mL of 0.1 M Hydrochloric acid is mixed with 2 mL of 0.1 M Sulphuric acid. On adding 2 mL of NaCl
solution into the above mixture, the volume is made upto 6 mL. Calculate the pH of the resulting mixture. /

0.1 M BTSSR lier 3%t & 2 reielies @1 0.1 M Iergfer 3t & 2 fireiielier & ary fyemar sar g1
Suad firyor # 2 frefieiier Nacl fawas &) s1e W, 7T 6 freiieiier T g wirdt 8 1 ufvome frgor
& pH &I TUHET B

1. 14
2.0
3.1

4.7

Correct Answer :-

69) How many bonds are there in 1,3,5,7-octatetraene? /

1,3,5,7-3fTaecers H favam e €2

1. 160 and 57 160 Ud 57

5. 150 and 4w / 150 Ud 41

3. 170 and 4w [ 170 Ud 47
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4 140 and 3w / 146 Td 37

Correct Answer :-

. 170 and 47w { 176 Ud 4x

70) Choose the INCORRECT statement from the following. /
Frafafea o 3 Tad FYF |

1. Denaturation of proteins causes loss of secondary and tertiary structure of proteins. / PIEEE:D Qﬂi IR R
AT & 3HTT T UIeH o1 fapdianzur giar g

2. Tertiary structure of a protein refers to its complete three-dimensional structure. /
WA BT Jaliad a1 39! gul B3-St TRe=1 &1 Tehid axar gl

3. Antibiotics are proteins which defend the body against the invasion of foreign organisms. / Q@H@ma
TICH BId @, S TRIR BT 18t Sffal & SHhHUN & [96eg §ard PR 6|

4, B-Keratin present in claws and shells of reptiles has antiparallel B-pleated sheet structure. /

B-prfe HIN[g Ul 3R SHTaRUT aTel TGl & YA B-JACeR IR & s19e Bidl 8

Correct Answer :-

« B-Keratin present in claws and shells of reptiles has antiparallel B-pleated sheet structure. /

B-3pR e Hiv[E U 3R SMTaRUT aTd TRIGUT o UAHR p-goceR URd &1 §-1de gia g

71) CANCELLED

Which of the following is an essential amino acid? /

Frafefad & @ i ar i era smaza® g2
1. Glycine/‘?ﬂgﬁﬂ
2. Proline / OTel

3. Isoleucine / sﬂwlaGFiFl
4. Serine /@ﬁ:f

Correct Answer :-

« |soleucine /W@B?ﬂ?

72) CANCELLED

Which of the following will give more stable alkene during dehydrohalogenation? /

Frafufed # O o1 Sersgiedie & dR ifte fRR Tare dm?
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1. CH3CH CICH, CH,CHj
2. CH3CH CICH, CHj

3. (CH3),CHCH (CI) CHj
4. (CH3),CHCH, CH,Cl

Correct Answer :-

« (CH3),CHCH (CI) CHj

73) CANCELLED

Methyl and ethyl halides can undergo SN2 mechanism to give different products with: /

__qra fafira Iaure weM 1 & e furs 3R sutsa earss sy 2 fhanfafdr 9 gl oR g@d g1

1. NH3

3. RONa
4, Mg/ether

Correct Answer :-
. AgNOZ
74) CANCELLED

A solution is prepared by mixing 60 mL of N/5 HCl and 40mL of N/5 NaOH. Assuming complete ionisation of
acid and base, calculate the pH of the resulting solution. /

N/5 HCI & 60 mL 3fR N/5 NaOH & 40 mL P fAf¥d #ve ve faea1 dur far Sirar 21 et 3R &R &
YUl STl ®1 HIFd §€, YRV faeras & diea &1 moFEr o631

1.1.4
2.2.2
3.3

4.1

Correct Answer :-

75) CANCELLED
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Increasing order of reactivity towards nucleophilic addition is: /

gfFraifbiee g & ufa sifufrasiaa 1 sea wa &:

1. Acetophenone < p tolualdehyde < benzaldehyde < p nitro benzaldehyde /Q?ﬂa'eﬁ-ﬁ? ﬁ?ﬁﬁﬁ%‘s’@
JeIfSRIgS < Ul A1gel SeiiSgigs

2. Acetophenone > p tolualdehyde > benzaldehyde > p nitro benzaldehyde /Q’Fﬁafﬁ:ﬁ:[ tﬁ?ﬁﬂﬁlﬁ%ﬂg@?
EENISHESREIBIEFEERISHES]

3. p tolualdehyde < benzaldehyde < Acetophenone < p nitro benzaldehyde /‘ﬂ?‘ﬁ@\ﬂ?ﬂ%—&fﬁ_&' < QW%BETS' <
T < U 1gel doaregzs

4. Acetophenone < benzaldehyde < p tolualdehyde < p nitro benzaldehyde / q@ﬂﬁ%‘rﬁ < éaa%ss@ <4t Fﬁﬂ&lﬂﬁi—a‘ﬁg
< Ut 3¢l dSafegEs

Correct Answer :-

« Acetophenone < p tolualdehyde < benzaldehyde < p nitro benzaldehyde /Q?ﬂa@_"h:f < Tﬁ?‘hﬁ@lﬁ%gﬁg <

SSIATSEISS < Ul 1SS! duldiSags

76) CANCELLED

Cyclohexanol undergoes dehydration to form cyclohexene. The yield of this dehydration is 75%. Calculate
the yield when 100 g of cyclohexanol dehydrated. /

ATsadigaaTHid, Arsadigai BT FHafur &3+ & fore fAeielia o ¥ g okar 8 | 339 fRefefiemor
BT IAUIE 75% & | IUTE B TUFT B o9 HISRNSFAATA DT 100 T Frstenipd arar g

1.38.34¢
2.615¢
3.25¢g

4.75.00 g

Correct Answer :-

77) CANCELLED

When benzene is treated with isobutene in the presence of sulphuric acid, the product formed is: /

%?qﬁmmﬁmﬁﬁw&mummm%ﬁﬁﬁhm

1. rbutyl benzene / n-SCTRd SoiA
2. tert-butyl benzene / tert- SICTSA Sofi-

3. Isobutyl benzene / GHE@W ot
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4, Toluene / a?ff

Correct Answer :-

« tertbutyl benzene / tert- SICISd SoiA

78) CANCELLED

The set representing the correct increasing order of basic character is: /
U Gl & Ta vH &1 Tl ufaf=iica @ arer de &

1. K,O <Na,0 < Al,03 <MgO

2. MgO < Al,03 <K,0 <Na,0O

3. Na,O <K,0 <MgO < Al,O3

4. Al,O3 <MgO < Na,0 <K,0

Correct Answer :-
. A1203 < MgO < Na20 < Kzo
79) CANCELLED

The pH of 0.10 M solution of NH4Cl is:

105
[dissociation constant, K (NH3) = 2 ¥ B 1/

NH,C1 ¥ 0.10 M faera= &1 die= 3

[GUFHRT FRRTP, K, (NHy) = 16 X 1077
1.7.36
2.5.01
3.1.65

4. 1.98

Correct Answer :-

- 5.01

80) CANCELLED

Which one of the following represents the correct increasing order of basic strength of the given Amines? /

Frafefaa & @ ®1F THsE 3t g &Hd1 & T8 HH BT Tg! Ufaf=ica e g2
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1. p—Nitroaniline < Aniline < 4—Methylaniline < Benzylamine /
p-msaqﬁ%q<qﬁ%q<4.ﬁusﬁﬁm<émmsq

2. p—Nitroaniline < 4—Methylaniline <Aniline < Benzylamine /
p-?sg’rqﬁr%qqﬁmg@rﬁﬁkqﬁﬁkém

3. Benzylamine < Aniline < 4—Methylaniline < p—Nitroaniline /
TSRS < G < 4R RRRA < p-AgeIgRer

4, Benzylamine < 4—Methylaniline < Aniline < p—Nitroaniline /

m<4—ﬁﬂﬁaﬁﬁ?<qﬁﬁq<pﬂﬁﬁqﬁm

Correct Answer :-

« p—Nitroaniline < Aniline < 4—Methylaniline < Benzylamine /

p-ATSCITATeH < TRfeH < 4-frgaifer < demgaars
81) CANCELLED

Which of the following compound will give the same product on reaction with HBr in the absence as well as
in the presence of peroxide? /

Frafafed 4 3 oF w1 9t Riarss ot sufRAf Sriar IufRAfT & BBr & 1Y SifUfhar $31 W
YT TG G2

1. 1-butene / 1-@?

2. 2-methyl propene / 2-forrEd PIR
3. Propene / IR

4. 2-butene / 2—@1%3

Correct Answer :-

+ 2-butene/ 2-@%'_{

82) CANCELLED

Which of the following artificial sweeteners is known by the chemical name ortho-sulphobenzimide? /

Frafafaa o § o4 I FHw e IR 9 Sifl-aep eSS §RI S STl 82
1. Saccharin / ﬂ'lsﬁ'ﬁf
2. Aspartame / QWR%TT

3. Sucralose / ﬁ?ﬂ?ﬁﬁ
4, Alitame / Q?ﬂ%q
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Correct Answer :-

» Saccharin / W

83) CANCELLED

Which component/bond of the polymer PHBV makes it suitable for making flexible capsules enclosing
drugs? /

TIferiR PHBV &1 ® 19 U1 Uedh/a8- 9 3uf¥ Afed Us aeiien »oya 991 & e Suged s-ar 872
1. 3-Hydroxypentanoic acid / 3-@3@3@%?@3

2. 3-Hydroxybutanoic acid / 3-@@@% Q[ﬁ@
3. The substituent alkyl radicals / TfoRIT TepTsd Hifdid

4, Ester linkage between the 2 monomers / 2 QWH’)A[ &S U e dUdI

Correct Answer :-

» 3-Hydroxypentanoic acid / 3—E§I$§\Id*lnl -\'Cl \Iﬁd? Qﬁl_ér
84) CANCELLED

A crystal acts as a catalyst and can be obtained naturally as well as synthetically. It is a 3D network of
silicates in which some silicon atom can be replaced by aluminum. The crystal is: /

TH Thfe® SARP & U T 1l Heal 81 39 WHfad U T 3R 91 g1 91y 7 =u J oft ure
o o war 31 ge Riftide &1 s 3p Aeas g, orad v Riftreia v vegHif g grr
Ui fT &1 O &1 98 STa o

1. Alum / fopefasl
2. Silicone / RifeTamIA
3. Glass /WTH

4, Zeolite /ﬁﬂ\ﬂlﬂl%a
Correct Answer :-

e Zeolite /%Mlﬂl%a

85) CANCELLED

In the Nucleophilic substitution reactions of Alkyl halides, which one of the following Nucleophiles cannot
act as an Ambident Nucleophile? /

IePISd SATSSYH DI YRl uferuTe= sififrareli # §, PaRif@a § S
YFAUIPISd U 3RUY YA bEd & =0 § ST T8 B Jobdl 82
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1. SCN™
2.RO™
3.CN™

4.NO,~

Correct Answer :-

86) CANCELLED
In Antarctica, the chemical moiety responsible for ozone layer depletion is: /
3ieThiesT H, 3MiSiF WRd & BT & T SRRl IS ufer (HsmEd) 8:

1. SO, and SO3 / SO, 3R SO3

2. Peroxyacetylnitrate / ailaﬂlslééléqulsaa
3. Chlorine nitrate / FRIRT :llﬁaa

4, Acrolein / Qﬁ-”%ﬂ

Correct Answer :-

« Chlorine nitrate / TR :IIEEAE

87) CANCELLED
Choose the INCORRECT statement from the following. / FafeiRead & 9 Taa ST S g+ |
1. Natural rubber is a 1,4-polymer of isoprene. / W RES] TSI BT TH 1,4-dgcidh %l

2. Caprolactum is the monomer of nylon-6. / %uﬁaqcu '1I14('1\IJ'1—6 CaRCINEE %I

3. Buna-S is a copolymer of 1,3-butadiene and acrylonitrile. / g-I- S 1,3-§Cl%"lnl GhT Qiab Q’I-\Hligl'ici DI UD
JHIEAD ¢ |

4. Phenol-formaldehyde resin is known as bakelite. /W-WIHTC@GI{SS T &dﬂlsc & =0 H ST 1] %l

Correct Answer :-

+ Buna-S is a copolymer of 1,3-butadiene and acrylonitrile. / §-I- S 1,3-§Elé#| 3R Q[%FHHIEEJ%@ HIUh
REERSER

88) CANCELLED
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Naphthalene (C1gHg) balls were kept in a closed container at room temperature (27 °C). The vapour
pressure above the balls was found to be 0.10 mm Hg. Find the value of Kc(sublimation). /

ARSI (C19Hg) TGl BT AHRT ATUHT W (27 °C) TH §g e | ¥@T 111 gl & FHUR 9T g1 0.10 mm Hg
AT AT Ke( SHedura-) &1 |9 JTd B

1. 5.36x107°

, 6.02 X 10723

3. 7.45%x107®

-4
4 1.32x 10

Correct Answer :-

5.36x 107°

89) CANCELLED

Action of heat on A, a dibasic acid of phosphorous, gives noninflammable hydride of phosphorous B,
which becomes inflammable when exposed to air. Aand B are : /

BIEHRY & fGam o A TR S 1 1 fobdT, BIEpiRd B &1 Ssaa-Rid gI3sIss odl o, Sl §a1 & |ud o 3
R SAATRA g AT g1 ASIRB® |

1. H3PO3 and PHg4/ H3PO3 3R PH4
2. H3PO3 and PH3/ H3PO3 3R PHs3
3. H3PO4 and PH3/ H3PO4 STR PH3
4. HoPO3 and PH3 / H3PO3 IR PH3

Correct Answer :-

« H3PO3 and PHs3/ H3PO3 3iR PH3

90) CANCELLED
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Examine the structure and identify the stronger base. The stronger base is because /

TRAAT ht ST o 3R Tael &R T 9g=reT | Wdel &R &, Tdifam:
H,C 0Q
N* NH,
/7
cH, O
NH,
A B

1. B : NO5 group deactivates the ring /
B : NO, T4g B &I AfSpa &ar §

2. A : steric hindrance due to CH3 group /

A : CH3 TUg & HRU CR& aRly
3. A : NO; group does not effectively delocalize the electron pair of NH> /

A : NOp g U U ¥ NH, BT Saiae Siie! B SRUMISA el Bl 6

4. B : steric inhibition of resonance due to CH3 group /

B : CH; THg & DHRU 3G B TRP AARIY

Correct Answer :-

» A : NO> group does not effectively delocalize the electron pair of NH, /

A : NO, TH UHTA U ¥ NH, B! Sdaci Site! Pl SRIFIPd Ta] Hal 8

91) CANCELLED

An electron falls from co to stationary state 1 in a hydrogen atom. The wavelength of electron
emitted would be:[R = 1.097 x 107m~1]/

U GoiFglel Th BI3aiotsl TRAN] & co ¥ FRRERN 1 & FRar &1 3cafsid semcH
T ddaed gET: [R = 1.097 x 107m™1]

1.1.0 x 108 m

2.9.1x 108 nm

3.91 nm
4. 1.097x1077 m

Correct Answer :-
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92) CANCELLED

The increasing order of stability of the following carbocations:

/ farafeifag wafeere i Rerdr &1 gedr &7 & T ¢

+ +
@ HyC—CH—CHj i) (CH3),C

+ +
@) H3C—CH,—CH, v) (CH3);CCH,

1. (iif) < (ii) < (iv) < (@)
2. (iv) < (i) < (i) < (iii)
3. (iv) < (iii) < (@) < (i)
4. (i) < (i) < (iii) < (iv)
Correct Answer :-

o (iv) <(ii) < (i) < (iii)

93) The order of decreasing reactivity towards electrophilic substitution for the following

compoundsis: /
ﬁéﬁ@ﬁﬁﬁﬁﬁﬁwmmﬂwﬁ%&ﬂﬁmmm
HeT o HH b
CF; OCH, CH4
5 &ed
SNCNVES
()] (L) 1y avy

1. (I) > (I1) > (II1) > (1V)
2. () > (IV) > (1) > (II)
3. (I1) > (IV) > (IIT) > (T)
4. (I > (I) > (1) > (IV)
Correct Answer :-

. (I)> (IV) > (IID) > (1)
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Consider the reaction XY(@) === X(g} + Y(g},

If33%of XY is dissociation at a total pressure of P, the correct relation between P and Kpis: /
AT W fdar &, XY@ === X} +Y(9),
afg XY & 33% P & &el g@ W faued . dr P 3R Kp & &9 @61 969 §:

1. P=2Kp

2. P=8Kp

3. P=4Kp

4. P=Kp

Correct Answer :-
« P=8Kp

95) Identify the major product of the given reaction./

& 5 ATARRAT & 9HE 379G H 9EHT |

H280O
CaHg + (CH 3)2CHCH20H :

CH,
H,C—C—CH,—CgH

I
1. H

CH,
HeCq —<l,—cH3
,
HeCs~C=CH,
3, (I3H3
H,C—C=CH,
4, (|3H.q

Correct Answer :-

CHy
HeCs—C—CHs
. CHj
96)
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Na + 02 & 2NO e K4
Z2NO + 02 & 2NO2 ———— K>
NOs$>¥% N + 02 s K3

Kz in terms of Ky and K2 will be /

Ki O Kz % 98T & Kz T HIT grem:
1. [1/ Ky x Ky 14

2. [1/ Ky x Ky ]2

3. [Kyx 1/ Ky Y2

4. [ Ky x Ky 112

Correct Answer :-
o [1/ Ky x K 1M2

97) The standard Electrode Potentials at 298K of the Metal ion / metal are as shown:

M/ M Wot W Xot X [ Yty [ ZRT

Z
E'V +1.81 —293 | —166 | +0.8

Identify the correct decreasing order of their reducing power. /

298K WX €iq 3R/ & HAleleh Seaels fasa feemw e g
IVIII+ ..'f NI \."ITH_: :"Y'V’ Xn—f "," X Y11+ .VV’Y Zn—I ._.'
Z

E'V +1.81 —293 | —1.66 +0.8

AT 39ATdeh UAfad o Tel 9ed e ol Jgdnavl
1.X>Y>Z>W
2.Z2>W>Y>X
.W>Z>Y>X
4. W>Z>X>Y

Correct Answer :-

¢« X>Y>Z>W
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Energy
Products

Reactants

Reaction Coordinate

If the activation energy of the forward reaction is 15kcals/mol and heat of the reaction is 5

kcals/mol, the activation energy of the backward reaction is /
Ife MY AT HFRAT T Ffkaor FAT 15 e St/ A 3197 § 3R fEERT dr
Fsa7 5 forell ShelliT/ AT 3197 &, ar Sraadr fEfear 6 gfergor s §

1. 20
2.5
3.0

4.10

Correct Answer :-

- 10

99) For the reaction, H,(g) + 0,(g) = H,0,(g). the standard enthalpy change in kl/molis:
[Bond enthalpies of H-H, O=0, O-H and O-O are 438 kl/mol, 498 kl/mol, 464 kl/mol and 138

kJ/mol respectively] /

H,(g) +0,(g) = H,0,(g) 3iTéiftrar & fore, @tete arder enfkar & kiimol &

gfikafda gar &
[H-H. 0=0. 0-H 3R 0-0 &I Fe1e7 ardir enfxarsraen 438 klimol, 498 Klimol. 464 klimol

31T 138 kJimol ]
1.-130

2.+334
3.+130
4, -334

Correct Answer :-

« -130
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The number of electrons involved in the process of MnOj getting reduced to Mn?* in acidic medium is: /

FT ATETH H MnOj & Mn2* F oTgehd Glol chl STshal 3 MTTEel Seldrelsll ohl EAT Blal o

1.2
2.5
3.3

4.1

Correct Answer :-

Page- 54



